1440010

1440010

1440010

1440010

1440010

1440020

1440020

1440020

1440020

1440020




| 1440010 001

420 13 413 13 419 13

0 0 0 0 0 0

0 0 0 0 0 0

420 13 413 13 419 13

2,695 2,695 2,775

2,695 2,695 2,775

0 0 0

0 0 0

c 0 0 0
D =B+C 2,695 2,695 ok
& AP 3,115 3,108 3,194
0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

E 3,115 3,108 3,194




406,407 402,965 401,294
400 400 400
12.8% 12.9% 12.5%

8 8 8

1 1 1

1 1 1

50 50 50

37 35 40




| 1440010 002
)

198,000 40 x 173,386 (R2  )x /173,386  (R2 )
1,292 40 1,272 40 1,288 40
0 0 0 0 0 0
0 0 0 0 0 0
1,292 40 1,272 40 1,288 40
16,114 15,178 16,553
16,114 15,178 16,553
0 0 0
0 0 0
c 0 0 0
D =B+C 16,114 15,178 16,553
£ =AD 17,406 16,450 17,841
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 17,406 16,450 17,841




406,407 402,965 401,294
0 0 0

0.0% 0.0% 0.0%

43 41 44

50 50 50

38 50 53
50,000 50,000 50,000
5,894 10,574 23,930




| 1440010 003
)
805,000
1,292 40 1777 40 1,288 40
0 0 0 0 0 0
0 0 0 0 0 0
1,292 40 o 40 1,288 40
814 708 805
814 708 805
0 0 0
0 0 0
c 0 0 0
D =B+C 814 708 805
& AP 2,106 1,980 2,093
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 2,106 1,980 2,093




406,407 402,965 401,294
0 0 0

0.0% 0.0% 0.0%

5 5 5

10 10 10

2 2 4

1,000 1,000 1,000
622 220 445




1440010 004

65
2
65
2 112 5 863 8 734

65 2 286 9 258 8
0 0 0 0 0 0
0 0 0 0 0 0
65 B 286 9 258 8
4 32 26
4 32 26
0 0 0
0 0 0
c 0 0 0
D =B+C 4 32 26
E =A+D 69 318 284
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 69 318 284




39,850 34,423 39,276
0 0 0

0.0% 0.0% 0.0%

0 0 7

600 600 600

1 8 7
1,200 1,200 1,200
2 11 6




005 |

1440010

161

161

161

161

157

159

70

70

70

223

229

B+C

D

E =A+D




- 402,965 401,294
0 0 0
0.0% 0.0% 0.0%
0 1 0
- 19 19
- 19 19
- 35 35
- 0 0




| 1440020 001
323 10 318 10 i 10
494 48 485 48 485 48
0 0 0 0 0 0
817 53 803 53 807 53
11,400 13,931 14,506
11,400 13,931 14,506
0 0 0
0 0 0
c 0 0 0
D =B+C 11,400 T 14,506
E =A*D i 0 14,734 15,313
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 12,217 14,734 15,313




. 
406,407 402,965 401,294
0 0 0
0.0% 0.0% 0.0%
30 37 38
39,100 39,100 39,100
39,100 39,100 39,100




| 1440020 002
4,000
R 4,000
0 0 0 0 0 0
62 6 61 6 61 6
0 0 0 0 0 0
62 6 61 6 61 6
415 415 415
415 415 415
0 0 0
0 0 0
C 0 0 0
D =B+C 415 415 415
E =A+D 477 476 476
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 477 476 476




7,500 7,500 7,500
0 0 0
0.0% 0.0% 0.0%
64 63 63
4,000 4,000 4,000
4,000 4,000 4,000




| 1440020 003
969 30 159 5 161 5
62 6 0 0 0 0
0 0 0 0 0 0
1,031 36 159 5 161 5
4,115 608 217
4,059 0 217
0 551 0
56 57 0
c 0 0 0
D =B+C 4,115 608 217
& D 5,146 767 378
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 5,146 767 378




406,407 402,965 401,294
0 0 0

0.0% 0.0% 0.0%

30 37 1

2 1 1

2 1 1

3,000 20 24
3,610 28 24

28




| | 1440020 004

969 30 795 25 805 25

62 6 i 7 o 7

0 0 0 0 0 0

1,031 36 866 87 876 32

4,115 1,112 1,162

4,059 0 0

0 1,041 1,045

56 71 117

c 0 0 0
D =B+C 4,115 T 1,162
E =A*D 5,146 1,978 2,038
0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

E 5,146 1,978 2,038




406,407 402,965 401,294
0 0 0

0.0% 0.0% 0.0%

30 37 5

1 1 1

1 1 1

3,000 6,000 7,000
3,610 9,000 7,273




| 1440020 005
400

318 10 322 10
485 48 485 48
0 0 0 0
803 58 807 58
0 1,428
0 1,428
0 0
0 0
c 0
D =B+C 1,428
& D 803 2,235
0 0
0 0
0 0
0 0
0 0
0 0
E 803 2,235




402,965 401,294
0 0

0.0% 0.0%

37 6
39,100 39,100
39,100 39,100




